Macha Girls Secondary School                                                                                 Mr. Kubach


Name:___________________________________            

Macha Girls Secondary School

Physics End Year Exam

                                                   Term 3 2009

2:00h                                                        Grade 10.5                                          25.11.2009       
Write your complete name in the space on top of this page.

During this paper you are only allowed to use a pen, a pencil, a rough paper, a ruler and a calculator. 

Answer all questions.

Write your answers in the provided answer spaces, except question 7, where you work

on the attached blank paper. All working must be clearly shown.

Obmission of essential working will result in loss of marks.

The number of marks is given in brackets [ ] at the end of each question or part question. The total amount of marks that can be arrived is 54.
Concentrate and all the best!

1. Mention at least 3 branches of the physics:

      _________________,____________________,__________________​_____  [1,5]                               
2. The shown drawing represents a measurment instrument in the physics
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a) How is this measuring instrument called? 

        ____________________________         [1]

b) How big is the amplitude of this measurment?
        ________________________                 [1]

c) If it takes 70 seconds to make 28 complete 

       oscillations, how long  is the periodic time
        of the measuring instrument?                                  


       Answer c)   ________________ [1]                                    16cm  
3. Name any two vector quantities:__________________,_________________[1]

4. What does SI Unit stand for? _____________________________________ [1]

5. Mention two factors weight is depending on:

________________________________,__________________________    [1.5]

6. Express 54896.3mg in tonns (t).

                                                                                     Answer_______________ t _[1]

7. Given that a cuboid of metal has a length of 20 cm, a bredth of 3cm and a width of 2cm. The metal has a density of 
[image: image4.png]


  .   (work out on attached blank page!)                                                           

a) Calculate the mass of the wood                                                             [2.5]

b) With what kind of measuring instrument could 

      you proofe your result of a) quite exactly?                                              [1]

c)   Calculate the relative density of this metal.                                           [1]    

            d)  So that the metal can fit into a certain hole, two pieces of 

                  each 10 g have to be removed. How much would the weight 

                  of the remaining metalpiece be after the removing of 

                  the two pieces ?                                                                                       [2] 

            e)  Would the density be a different after the removing of the 

       both pieces? Explain your answer exactly!                                                       [1]

8. Given that on the mars [g(mars)=3.72
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] Mutintas calculator has a 

        weight of 0.192 N

         a) What weight would the calculator have on the earth?

                                                                                    Answer a)___________[3]

b) Though Mutinta is again doing homeworks during she is eating, she drops the    

     calculator in her glas, which increases its filling level thatswhy from 98cm³ to   

     156cm³. Calculate the density of the calculator.

                                                                                           Answer b)_____________[3]

9.   The velocity-time graph in this question is showing the travelling of a train, 

       that has a mass of 2.5 t.

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	



                         

a)   Describe detailed what information you can read from the graph.

       ____________________________________________________

       _____________________________________________________

       _____________________________________________________  

       _____________________________________________________

       _____________________________________________________    

       ____________________________________________________              [3]

 b)  How much distance does the train travel in the first 3 seconds ploted in the graph.

                                                                               Answer b)_______m [1.5]

 c)  Calculate the average acceleration of the train between second 3 and second 6.                                                

                                                                                  Answer c) __________[1.5]

 d)  What force was required to break the train down as shown in the graph?

                                                                                 Answer d) __________[2.5]

e) How much distance did the train still move, after starting to break down the train?

                                                                                   Answer e)__________[2]

10.   In the following figure a uniform metre rule is pivoted at its centre. 

a)  If the rule is balanced, how big is the Force F1 ?

                             25 cm                                         10cm

       

                                        X

    

              F2 =20N                                                                      F1

                                                                                        Answer a)_______________[2]

       b) Explain what would happen, if F2 would be moved to point X.

            ____________________________________________________________

            ____________________________________________________________

            ____________________________________________________________

            ____________________________________________________________  [2]

11.  What obeys the “Hooke’s law”: “a materials extension is directly 

      proportional to…(tick at least one box)                                                                  [1]

 (the streching force, (the gravity, (the density of the material, (the acceleration.

12. Complete the table, which represents an experiment to show the relationship between mass, acceleration and froce:                                                                    [2]

	500 kg
	5 m/s²
	2500 N

	
	2,5 m/s²
	2500 N

	500 kg
	10 m/s²
	


13. Following table is representing the results of an experiment, in which different     

       masses have been hung on a spring balance. For the experiment can be assumed  

       that 
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	Streching force in N
	0
	0.5
	1
	1.5
	2
	2.5
	3

	Mass hung from spring in g
	
	
	
	
	
	
	

	Extension in mm
	0
	14
	28
	42
	56
	81
	120

	Length of spring in cm
	4.0
	
	
	
	
	
	


a) Complete the table                                                                                              [3]

b) Plot the graph of extension against streching force in the diagramm 

      under this task. Choose units for the axis by yourselfes and name the axis.      [2.5]

c)  Mark the elastic limit of the spring on the graph.                                                [1]

e) What streching force is needed, so that the spring has a length of 75mm

                                                                           Answer d)_​​​​________________ [1.5]

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	


f) What is the unstreched length of the spring?___________________________  [1]

14.  Mr. Kubach entres the class by pushing the door 25cm next to the hing.                                       

       If the moment of the force is 7.5 Nm, how much force did Mr Kubach apply?                                                               

                                                                                                  Answer_________________[2]

15.

 

                      A                                            B 

                                                                     




A and B are both equal sized cuboids of the same wood. The shaded area on A marks a part of the wood, that is wraped with some plates of metal. 

Explain what is different between these both plates and why they might behave diffrently.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
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_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

                                                                                                                   Answer [3]

               3                                                                       time in s
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